Interpretation Questions
1. Eduardo acquired the following data:

	Weight Added
	Spring Position

	0
	30 cm

	0.6 N
	52 cm

	1.0 N
	71 cm

	1.2 N
	80 cm

	2.4 N
	124 cm

	3.0 N
	152 cm


a) What is the spring constant of the spring?

b) The spring is now stretched 80 cm (from its rest position). How much energy is stored in the spring?

c) A 500-g mass is attached to the spring when it is in the position described above and is released from rest.  What is the frequency of its oscillation?

d) What is the maximum speed attained by the 500-g mass?

2. Two springs of k-value 40 N/m hang from a ring stand.  A 1.6-kg mass is attached to both springs. How far do the two springs stretch when the mass hangs in equilibrium?  

3. 
In the previous question, how far would the spring stretch if the two springs were attached end-to-end on the ring stand?

4. The table below gives the distance of a weight on the end of a spring as it bobs up and down.  The distance is measured from the top of a table.  

	TIME (s)
	DIST (cm)

	0.5
	11

	0.6
	17

	0.7
	20

	0.8
	21

	0.9
	20

	1.0
	17

	1.1
	11

	1.2
	5

	1.3
	2

	1.4
	1

	1.5
	2

	1.6
	5

	1.7
	11

	1.8
	17

	1.9
	20
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a) What is the period of the above motion?

b) What is the frequency of the above motion?

c) What is the amplitude of the above motion?

5. A 0.5 kg mass is attached to a spring and oscillates in simple harmonic motion with an amplitude of 0.24 m. The maximum speed of the vibrating mass is 0.6 m/s. 


(a) Calculate the value of the spring constant.

(b) What is the maximum acceleration of the vibrating mass?

1. 2.48 N/m, 0.79 J, 0.35 Hz, 1.78 m/s   2.  19.6 cm   3. 78.4 cm   4. 1.2 s, 0.83 Hz, 10 cm    5. 3.12 N/m, 1.5 m/s2

